

Discover Order1

The solutions to boost your Sales Administration

AI by  deestree

Are you still entering orders manually ?

- It mobilizes **time** and **resources**
- It can be source of **errors**

Automating order entry with **OrderScan**
reduces processing costs **by 10**



Arm your Sales Administrators with AI



1

OrderScan **captures** and
enters all non-EDI orders



2

Sales Admin **controls** and
validates in 1 click



OrderScan “reads” your orders

Pastazilla

Fournisseur
Michaud
cedric.poussineau+pasta2@eestree.com

Client
Cora Arcachon

Numéro de commande
778BD605

Date de commande
18-09-2025

Flux entrepôt : sélectionnez une des 3 dates de livraison. Flux direct : indiquez les informations de livraison dans la zone commentaires.

Le FRANCO (350 €) a été atteint. Des remises éventuelles du barème logistique (Bertrand FRANCO 350€) ont pu être appliquées et sont indiquées dans la colonne Remise / UVC ci-dessous.

Référence	Libellé (UVC)	Tarif client /UVC	Sais en Kg ou L	Remise /UVC	Tarif appliqué /UVC	Sais en Kg ou L	PCB commandé	UVC commandées	Taxes / UVC	Prix total HT	
10101	Busiate, paquet de 1 Kilos	0,31€	Non applicable	0,02€	0,29€	Non applicable	8	15	120	N/A	34,80€
10201	Campanelle, paquet de 1 Kilo	1,05€	Non applicable	-0,08€	0,97€	Non applicable	12	13	156	N/A	151,32€
11103	Cavatelli, paquet de 1 Kilo	1,05€	Non applicable	-0,06€	0,99€	Non applicable	12	12	144	N/A	142,56€
11103	Cavatelli, paquet de 1 Kilo	0,00€	Non applicable	0,00€	0,00€	Non applicable	12	1	5	N/A	Offert
11104	Conchiglie, paquet de 1 Kilo	1,29€	Non applicable	-0,03€	1,26€	Non applicable	12	3	36	N/A	45,51€
11110	Kilo	1,34€	Non applicable	-0,11€	1,23€	Non applicable	12	5	60	N/A	73,80€
12004	Macaroni, paquet de 2 Kilos	1,33€	Non applicable	-0,08€	1,25€	Non applicable	10	23	230	N/A	287,50€
11102	Patates farines de blé noir, paquet de 1 Kilo	1,56€	Non applicable	0,00€	1,56€	Non applicable	12	1	12	N/A	18,96€
110012	Patates farines de blé noir, paquet de 1 Kilo	0,00€	Non applicable	0,00€	0,00€	Non applicable	12	1	2	N/A	Offert
100012	Patates farines de blé, paquet de 1 Kilo	1,02€	Non applicable	-0,06€	0,96€	Non applicable	12	2	24	N/A	23,04€
100012	Patates farines de blé, paquet de 1 Kilo	0,00€	Non applicable	0,00€	0,00€	Non applicable	12	1	5	N/A	Offert
10003	Patates farines de froment, paquet de 1 Kilo	1,27€	Non applicable	-0,08€	1,19€	Non applicable	12	20	240	N/A	285,60€
	Frais de livraison (EUR)										
	Incant Droits et taxes hors TVA										
	Total (HT)										
	Total (HT)										
	FRANCO atteint										
											1063,09€



Numéro de commande
778BD605

Statut de la commande
Nouveau

Client
Cora Arcachon

Catégorie tarifaire
Boul - Pat

Source
En ligne

Numéro de commande client
#

Date de commande
18 septembre 2025

Date de livraison souhaitée

Franco
Le FRANCO a été atteint.

Frais de livraison
Non applicable

Flux entrepôt : sélectionnez une des 3 dates de livraison. Flux direct : indiquez les informations de livraison dans la zone commentaires.

Le FRANCO (350 €) a été atteint. Des remises éventuelles du barème logistique (Bertrand FRANCO 350€) ont pu être appliquées et sont indiquées dans la colonne Remise / UVC ci-dessous.

Référence	Libellé - EAN	Quantité retenue	Prix client	Par Kg/L	Remise / UVC	Tarif appliqué	Colisage	Colis
10101	Busiate, paquet de 1 Kilos. À la palette	120	0,31 €	Non applicable	-0,02 €	0,29 €	8	15
10201	Campanelle, paquet de 1 Kilo	156	1,05 €	Non applicable	-0,08 €	0,97 €	12	13
11103	Cavatelli, paquet de 1 Kilo	144	1,05 €	Non applicable	-0,06 €	0,99 €	12	12
11103	Cavatelli, paquet de 1 Kilo	5	0,00 €	Non applicable	0,00 €	0,00 €	12	1

Reconciliation with ERP data

- ★ client
- ★ products
- ★ prices
- ★ specific conditions

Order1 it's simple

Want to check for yourself ?

[Book a demo](#)



We assess your needs

with a sales admin process expert



He recommends THE right solution

depending on your process, tools, order volume...



We deliver the ready-to-use tool

Configuration by your dedicated expert

Personalized support for your sales administrators

Order1 in numbers

100+

Manufacturers who
trust us

500k€

orders processed

99,8%

reliability of
our IA

1st

Best AI order entry
agent on the market

3 years

expertise

10

employees

100%

data security

5/5

100% satisfied
customers



Our clients

We support sales
administration departments
in all sectors, SMEs, ETIs
and large groups.

See you soon on Order1.ai



www.order1.ai



cedric@order1.ai



06 86 81 34 97



All over Europe

